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\mW-b¡fn 

1. \mW-b§Ä F{X? GsXÃmw \mW-b§Ä? 

  1                    5 10 

  2                      1     5 

             F{X \mW-b§Ä …… 

             GsXÃmw \mW-b§Ä ………. 

2.  5 5      1       2 

                   10     5 

                        10        

      F{X \mW-b§Ä …… 

      GsXÃmw \mW-b§Ä ………. 

3.                            5 

                           1       10 

       2        5      1          F{X \mW-b§Ä …… 

                      5     10     5       2        GsXÃmw \mW-b§Ä ………. 

                1      10     10     5       2      
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Nn{X-¯nÂ 1, 2, 5 , 10 sâ \mW-b§Ä X¶n-cn-¡p-¶p. 

 

 

     1            1              5            10 

 

    10           5              1                2 

 

     2            2              1                5 

 

10         1               2              5 

 

1  sâ F{X \mW-b§Ä ?      
 
 

2 sâ F{X \mW-b§Ä ? 
 

5 sâ F{X \mW-b§Ä ? 

 
10 sâ F{X \mW-b§Ä ?             
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5  sâ \mW-b§fpsS XpI F{X ? 

      

 10   sâ \mW-b§fpsS XpI F{X ? 

       

 1   sâ \mW-b§fpsS XpI F{X ? 
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Hcp _eq-Wn\v   = 3 cq]  

 2 _eq-Wn\v      þþ-þþ + --þþ-þþ = ----þþ-þ-þþ 

 

• Hcp d_-dn\v      = 5  cq]   

2 d_-dn\v         = þþ-þþ + --þþ-þþ = ----þþ-þ-þþ 

         

• Hcp hfbv¡v      = 10 cq]   

2 hfbv¡ v        =  þþ-þþ + --þþ-þþ = ----þþ-þ-þþ 

 

• Hcp s]³kn-en\v   = 6  cq]   

2 s]³kn-en\v     =  þþ-þþ + --þþ-þþ = ----þþ-þ-þþ 

• Hcp _p¡n\v     =   8  cq] 

2 _p¡n\v       =  þþ-þþ + --þþ-þþ = ----þþ-þ-þþ 
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NnÃd hm§mw 

 

 

 

 

 

 

 1 

                                                                  5 
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A)  2,  5  ,  10   \mW-b§Ä am{Xw D]-tbm-Kn¨v ]Z-§Ä ]qÀ¯nbm¡p-¶p. 

    

 

                                   

                                  10 

 

 

 

A)  5,  10  \mW-b§Ä am{Xw D]-tbm-Kn¨v ]Zkqcy³ ]qÀ¯nbm¡p-¶p. 
 

 

       20 

 

 

 

 



7 

 

 

Ubäv, tIm«bw 

H¶mw- Xcw H¶m-́ cw 

cq]bpw ss]kbpw 

KWnXw ˛ bqWn‰v 10                        h¿°vjo‰v ˛ 6 

 
Ip´nbpsS t]cv:----------------------------------------------------------- -----------------˛˛- -̨˛- -̨˛-˛- -̨˛- -̨˛-˛- -̨˛- -̨˛-˛- -̨˛-˛-̨ -˛-̨ -˛-˛- -̨˛- -̨˛-˛- -̨˛- -̨˛-˛- -̨˛- -̨˛-̨ - -̨̨ -˛- -̨˛- -̨˛-˛-˛˛˛˛-˛- -̨˛˛ 
 
¢m v: 1  Unhn-j≥:˛ -̨˛-˛- -̨˛- -̨˛-˛- -̨˛-˛-̨ -˛- -̨˛-˛- -̨̨ - -̨̨ -˛-˛˛ XobXn:˛˛- -̨˛-̨ -˛-˛-̨ -˛-˛- -̨˛- -̨˛-˛- -̨˛- -̨˛-˛˛ 

]qcn∏n-°mtam? 

 

1 .                                       

              20                      +              10                    = 

 

2.             

    

10     +              10          +         10    =                 =    

 

3.                        
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                 5              +            5                   +             5    = 
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hne Is- -Ømw. 

hne-hn-h-c-∏-´nI 

_eq¬ þ 2cq] 

]mh  þ10cq] 

hf  þ3cq] 

ImÀ  þ5cq] 

]o¸n  þ7cq] 

t]cv hm§nb km[-\-§Ä hne 
BsI hne 
 

_m_p ]mh, hf 10+3 
13 cq] 
 

cmPp ImÀ, ]o¸n  
 
 

eoe _eq¬, hf  
 
 

cmPp ]o¸n, ]mh  
 
 

\nXy ImÀ, ]mh  
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